X - A B AR

SH7F4H30HRE
XA HEDSETE AT [2AtHE [SAtHE [4AAHT [CAHE |6 AtHH [FALLEDHG
=EE=E—TH 56 23 16 11 6 0 0 0
E=_TH 60 32 19 1 5 1 2 0
BEE=TH 9 3 3 1 1 0 0 1
FL—TH 438 253 69 47 54 14 1 0
¥ILZTH 869 250 274 175 134 34 2 0
BIL=TH 236 75 77 45 31 5 2 1
LM TH 182 55 49 39 32 6 1 0
¥ILAETH 674 331 172 94 54 17 4 2
£Wl—TH 199 92 65 24 16 2 0 0
<=M =TH 416 190 111 56 43 15 1 0
SHE—TH 133 44 25 25 26 9 2 2
SHEZTH 77 28 21 11 12 4 1 0
SHE=TH 376 93 78 80 95 23 6 1
SEEMNTH 251 36 29 59 80 44 2 1
SERTH 19 4 8 2 4 0 1 0
SHEEARTH 96 48 19 13 13 2 1 0
SHEETH 764 262 298 131 59 12 1 1
(A h 56 17 18 6 10 3 2 0
AR 354 152 98 48 38 16 2 0
NG 209 60 42 33 48 23 2 1
A4t 274 126 88 39 12 8 0 1
AUE—TH 448 153 145 69 65 12 4 0
wLUE_—TH 505 182 158 76 69 16 3 1
wUE=TH 285 83 85 48 52 12 5 0
AUESETH 936 589 236 74 22 11 2 2
HLUERTH 1,079 620 312 98 37 11 1 0
AUE/RTH 558 221 194 86 42 14 0 1
KEri 401 151 102 64 53 30 1 0
KEE—TH 589 221 180 103 67 15 1 2
AFEE-TH 498 169 174 85 55 13 2 0
XHFEE=TH 482 154 191 72 43 16 6 0
RKEFEEMTH 454 150 171 68 45 15 3 2
KEEHRTH 338 118 109 54 48 7 0 2
KEFE/ARTH 516 193 159 92 53 16 2 1
XHFEELTH 285 71 115 52 32 13 2 0
KEeh 101 29 34 19 16 1 2 0
NS 144 22 19 32 44 22 5 0
MEBHEE—TH 348 111 117 73 35 11 1 0
MEBHEZTH 253 75 78 46 38 15 1 0
MERBEHE=TH 267 98 73 47 43 5 1 0




X - A B AR

SH7F4H30HRE
XA HEDSETE AT [2AtHE [SAHHE [4AAHS [CAE |6 AtHH [7FALLEDHG
MEF—TH 667 280 167 108 89 19 2 2
RSP _—TH 376 135 91 70 56 17 7 0
MEBP=TH 657 208 165 132 118 30 3 1
MERIE—TH 132 52 43 21 13 3 0 0
MR =ZTH 340 152 95 55 28 10 0 0
MzE—TH 32 12 8 5 5 2 0 0
M2BE—TH 41 17 11 8 3 2 0 0
M2Z2R=TH 125 39 44 21 17 3 1 0
MZEETH 273 68 93 62 39 9 0 2
BMRE—TH 340 180 113 32 12 1 2 0
BithR—TH 647 168 147 123 149 53 6 1
BHMR=TH 359 118 98 46 74 21 1 1
BthAEMET B 83 30 11 16 20 5 1 0
BthAEATH 352 101 69 66 81 35 0 0
BHAE—TH 467 143 110 82 89 40 3 0
BHA_TH 23 10 6 3 2 2 0 0
REA=TH 54 19 20 8 3 4 0 0
REHAUTH 18 8 6 4 0 0 0 0
BHH—TH 153 68 44 24 13 3 0 1
RER_TH 192 72 66 24 25 3 1 1
BHEP=TH 247 86 82 44 24 10 1 0
REHHUTH 10 4 4 1 1 0 0 0
BERRETH 8 5 1 2 0 0 0 0
BHE—TH 8 5 2 1 0 0 0 0
BEo A—TH 1,028 392 307 181 114 29 4 1
BESA_TH 263 94 66 33 57 12 1 0
BEFA=TH 155 27 28 27 62 10 1 0
HESAMNTH 47 40 5 1 1 0 0 0
¥H—TH 273 128 72 46 23 4 0 0
FH_-TH 574 259 128 72 89 23 2 1
XH=TH 677 304 188 103 62 15 5 0
FHETH 11 3 3 2 1 2 0 0
*AATH 428 141 113 69 79 24 2 0
FHATH 240 101 50 39 39 9 1 1
EHA—TH 43 11 15 7 7 3 0 0
EEA_TH 370 152 129 55 25 9 0 0
EHEA=TH 545 223 133 77 87 23 2 0
ERAMTH 441 209 107 64 40 15 6 0
ERARETH 231 104 57 37 26 6 1 0
EHANTHE 475 196 87 80 77 28 7 0
EEAETH 321 121 80 47 57 14 2 0
ZERARK/N\TH 513 163 155 87 81 26 1 0
=il 26,474] 10,232 7,450 4,183 3,420 1,017 138 34




